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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R.
Sheet. Candidate will himself be responsible for filling
wrong Roll No.

2. At the start of the examination, before attempting
the question paper kindly check your test booklet and
O.M.R. Answer Sheet.

3. All pages of test booklet and O.M.R. answer sheet are
properly printed.

4. In case of any discrepancy/defect the candidate
should immediately report the matter to the invigilator
for replacement of test booklet and O.M.R. answer
sheet. No claim/objection in this regard will be
entertained after five minutes of start of examination.
Candidate will be liable for it.

5. Answer all questions.

6. All question carry equal marks. (j '\',

7. Only one answer is to be given for each question.

8. If more than one answers are marked, it would be
treated as wrong answer.

9. On O.M.R. Answer Sheet, use blue ball point pen
only. Please, fill your Roll. No. and other information
correctly in O.M.R. Answer Sheet.

10. Each question has five options/circles. First four
option/circles a, b, c and d are related to appropriate
answer and fifth option/circle 'e' is related to 'Question
not attempted'.

11. To indicate the correct answer, the candidate has to
fill in only one option/circle a, b, ¢ or d with blue ball
point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer
any question then the fifth option/circle 'e' should be
darkned.

12. 1/3 part of the marks will be deducted for the
questions, if none of the option/cicle options are
darkned.

13. If a candidate will be given 10 percent question or
does not darken any of the five options, he/she will be
disqualified for the exam.

14. 1/3 part of the marks will be deducted for each
wrong answer.
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(a) AT (b) farfa
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(a) Formal — 3iqamRa (b) Franchise - Sux@T
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(e) ergaRa
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Change these sentences into passive voice(56 to 65)
Active: She wrote a letter.

(2) A letter was written by her.

(b) A letter is written by her.

(c) A letter has been written by her.

(d) A letter had been written by her.

(e) Unattempt

Active: They are watching a movie.

(a) A movie is watched by them. N

(b) A movie was watched by them.

(c) A movie is being watched by them.

(d) A movie has been watched by them.

(e) Unattempt

Active: He has completed the project.

(a) The project was completed by him.

(b) The project is completed by him.

(c) The project has been completed by him.
(d) The project had been completed by him.
(e) Unattempt

Active: The chef was cooking the food.

(a) The food was being cooked by the chef.
(b) The food is being cooked by the chef.
(c) The food has been cooked by the chef.
(d) The food had been cooked by the chef.
(e) Unattempt

Active: The teacher will explain the lesson.
(2) The lesson is explained by the teacher.
(b) The lesson was explained by the teacher.
(c) The lesson will be explained by the teacher.
(d) The lesson has been explained by the teacher.
(e) Unattempt

Active: They had completed the work.

() The work had been completed by them.
(b) The work was completed by them.

(c) The work is completed by them.

(d) The work has been completed by them.

(e) Unattempt

Active: She can solve the problem.

(a) The problem can be solved by her.

(b) The problem could be solved by her.

(c) The problem may be solved by her.

\
(/(/

(d) The problem was solved by her.
(e) Unattempt

63. Active: We should complete the task.
(a) The task is completed by us.
(b) The task was completed by us.
(c) The task should be completed by us.
(d) The task has been completed by us.
(e) Unattempt

64. Active: They are going to build a new house.
(@) A new house is being built by them.
(b) A new house was built by them.
(c) A new house is going to be built by them.
(d) A new house had been built by them.
(e) Unattempt

65. Active: The government must take action.
(a) Action must be taken by the government.
(b) Action was taken by the government.
(c) Action has been taken by the government.
(d) Action should be taken by the government.
(e) Unattempt

66. Change these sentences into active voice
Passive: The cake was baked by my mother.
(a) My mother bakes the cake.
(b) My mother baked the cake.
(c) The cake bakes my mother.
(d) My mother is baking the cake.
(e) Unattempt

67. Rassive: The letter has been written by John.
n writes the letter.
(

John wrote the letter.
(c) John has written the letter.
(d) John is writing the letter.
(e) Unattempt

68. Passive: The match will be played by the team

tomorrow.

() The team played the match tomorrow.

(b) The team plays the match tomorrow.

(c) The team will play the match tomorrow.
(d) The team has played the match tomorrow.
(e) Unattempt

69. Passive: The problem was being solved by the

students.

(a) The students solve the problem.

(b) The students solved the problem.

(c) The students are solving the problem.
(d) The students were solving the problem.
(e) Unattempt

70. Passive: A new policy must be implemented by the

government.

(a) The government implements a new policy.

(b) The government implemented a new policy.
(c) The government must implement a new policy.
(d) The government is implementing a new policy.
(e) Unattempt
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Emigrant — Scardl

Change these sentences into passive voice(56 to 65)
Active: She wrote a letter.

(a) A letter was written by her.

(b) A letter is written by her.

(c) A letter has been written by her.

(d) A letter had been written by her.

(e) Unattempt

(a) A letter was written by her.

Solution:

Identify the tense: Past Simple (wrote).

Object (a letter) becomes the subject.

Use was/were + past participle: "'was written™
Active: They are watching a movie.

(a) A movie is watched by them.

(b) A movie was watched by them.

(c) A movie is being watched by them.

(d) A movie has been watched by them.

(e) Unattempt

(c) A movie is being watched by them.

Solution:

Identify the tense:
watching).

Use is/are + being + past participle: "is being
watched".

Active: He has completed the project.

(a) The project was completed by him.

(b) The project is completed by him.

(c) The project has been completed by him.

(d) The project had been completed by him.

(e) Unattempt

(c) The project has been completed by him.
Solution:

Identify the tense: Present Perfect (has completed).
Use has/have + been + past participle: "has been
completed™.

Active: The chef was cooking the food.

(a) The food was being cooked by the chef.

(b) The food is being cooked by the chef.

(c) The food has been cooked by the chef.

(d) The food had been cooked by the chef.

(e) Unattempt

(a) The food was being cooked by the chef.
Solution:

Identify the tense: Past Continuous (was cooking).
Use was/were + being + past participle: ''was being
cooked"™.

Active: The teacher will explain the lesson.

(a) The lesson is explained by the teacher.

(b) The lesson was explained by the teacher.

(c) The lesson will be explained by the teacher.

(d) The lesson has been explained by the teacher.

(e) Unattempt

(c) The lesson will be explained by the teacher.
Solution:

Identify the tense: Future Simple (will explain).
Use will be + past participle: ""will be explained™.
Active: They had completed the work.

(a) The work had been completed by them.

(b) The work was completed by them.

(c) The work is completed by them.

(d) The work has been completed by them.

(e) Unattempt

(a) The work had been completed by them.

Present Continuous (are
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Solution:

Identify the tense: Past Perfect (had completed).
Use had been + past participle: "had been
completed™.

Active: She can solve the problem.

(a) The problem can be solved by her.

(b) The problem could be solved by her.

(c) The problem may be solved by her.

(d) The problem was solved by her.

(e) Unattempt

(a) The problem can be solved by her.

Solution:

Identify the modal verb: "'can™.

Use modal + be + past participle: "can be solved".
Active: We should complete the task.

(a) The task is completed by us.

(b) The task was completed by us.

(c) The task should be completed by us.

(d) The task has been completed by us.

(e) Unattempt

(c) The task should be completed by us.

Solution:

Identify the modal verb: *'should".

Use modal + be + past participle: "should be
completed by us.

Active: They are going to build a new house.

(&) A new house is being built by them.

(b) A new house was built by them.

(c) A new house is going to be built by them.

(d) A new house had been built by them.

(e) Unattempt

(c) A new house is going to be built by them.
Solution:

Identify the structure: *"going to™.

Use is/are going to be + past participle: *"is going to
be built™.

Active: The government must take action.

(a) Action must be taken by the government.

(b) Action was taken by the government.

(c) Action has been taken by the government.

(d) Action should be taken by the government.

(e) Unattempt
Answer:(a) Action
government.
Solution:

Identify the modal verb: "must".

Use modal + be + past participle: ""'must be taken™.
Change these sentences into active voice

Passive: The cake was baked by my mother.

(a) My mother bakes the cake.

(b) My mother baked the cake.

(c) The cake bakes my mother.

(d) My mother is baking the cake.

(e) Unattempt

(b) My mother baked the cake.

Solution:

Identify the tense: Past Simple (was baked).
Change to active: Subject (my mother) + verb
(baked) + object (the cake).

Passive: The letter has been written by John.

(a) John writes the letter.

(b) John wrote the letter.

(c) John has written the letter.

(d) John is writing the letter.

must be taken by the

68.
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(e) Unattempt

(c) John has written the letter.
Solution:

Identify the tense:
written).

Change to active: Subject (John) + has/have + past
participle (has written) + object (the letter).

Passive: The match will be played by the team
tomorrow.

(a) The team played the match tomorrow.

(b) The team plays the match tomorrow.

(c) The team will play the match tomorrow.

(d) The team has played the match tomorrow.

(e) Unattempt

(c) The team will play the match tomorrow.
Solution:

Identify the tense: Future Simple (will be played).
Change to active: Subject (the team) + will + base
verb (play) + object (the match).

Passive: The problem was being solved by the
students.

(a) The students solve the problem.

(b) The students solved the problem.

(c) The students are solving the problem.

(d) The students were solving the problem.

(e) Unattempt

(d) The students were solving the problem.

Solution:

Identify the tense: Past Continuous (was being
solved).

Change to active: Subject (the students) + was/were
+ verb-ing (were solving) + object (the problem).
Passive: A new policy must be implemented by the
government.

(a) The government implements a new policy.

(b) The government implemented a new policy.

(c) The government must implement a new policy.

(d) The government is implementing a new policy.

(e) Unattempt

(c) The government must implement a new policy.
Solution:

Identify the modal verb: “"must™.

Change to active: Subject (the government) + modal
verb (must) + base verb (implement) + object (a new

Present Perfect (has been

policy).
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